PewwunTb ypaBHEHUA METOA0M 3aMEHbI

1. xz_f;+lo_x2+4x=6' 1nnn3
2. | (e -3+ 1) =32 —12x+1 0. 3, 31373
8" 16

3 @+ 2%)° - (x + 1) =55, “Awnm 2
4 | (x* = 5x)(x + 3)(x — 8) + 108 = 0. MPREE: ZJE
5. (x+3)(x+ D(x+ S)(x+7) =—16. 445
6. x(x+1)(x+ 35)(x+6)+ 96 =0. HeT peLueHwil
7. 4@ +S)(x+6)(x+10)(x +12) - 3x*=0. | -8-75 =2° in%

(2x — 1)(x — 2)(2x* + 7x + 2) = — 20x>. -2;-0,5

X -2 — 184 — 6x + 9 =0. -1;-3; 3++/6
101 3x? 4 5x +§+%=16. L —111;/%
11. | x* -2’13’ -2x+1=0. 54421
12 | *=2x+2)*+3x (x*—2x +2) = 10x>% _1;2_2; 2+42
B +x+ 1) =223 +x + 1), 1if
14. | 4x*-8x*+3x*-8x+4=0. 0,512

4.3 Ha 21 man



